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3. CHE%E AlLtE|
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2 MRI AARZDE Al !
A= (Laminectomy & discectomy) =22 %2 T 2540 A LCH X
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2) FIPEH

T H 8
- O|E: HQT
e AMH/LIOI-
CHANR R S E/LIO[: F/46
o AMZ/HZB: 149.7cm/52.0kg
° x|%. _7[<_|=|
| . T

e V/S: T:36.5°C, P: 78%|/min, R: 182|/min, BP:120/70mmHg

dxy Sp02: 98%
AZME | o HMNEL 2 3 2ode LY
e PCA(+), Hemo-vac(-), Baro-vac(+)
- UZEH U £ 218
o AP Z7|: Ceftriaxone
0|2 27|

« CBC: WBC 8810/mlL,
HAHHA |« Hb 10.7g/dL, Hct 34.9%,
+ PLT 254,000/mL

HEAMMZEAL | o Chest PA: Non specific finding




Check V/S g15min x4, 30minx2, Thr until stable, 4hr
Amount check Baro-vac

L]

L]

Semi fowler's position

Deep breathing & Encourage cough(frequently)

02 inhalation 5L/min

L]

L]
L]

5% Dextrose Saline(CJ) 1000ml 10gtt.

Ceftriaxone 1g inj [AST]

L]

L]

[prn] Meckool 10mg/2ml inj IV bolus (Nausea Al)

[prn] pethidine HCL 50mg/amp (NRS 7% 0|4}
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6) IV PCA

F

YA ZH2EHof o

CH

{oF





